INDEX OF DRAWING

SHEET_NO. DESCRIPTION
1 & 1.1 | COVER PAGE, GENERAL NOTES, GLAZING DETALS
2 & 2.1 |SINGLE & DOUBLE DOORS TYP. ELEVATIONS & CAPACITY ]
3 & 3.1 |SINGLE & DOUBLE DOORS WITH TRANSOM, ELEVATIONS & CAPACITY CHART
4 THRU 4.2|LOCK OPTIONS & LIMITATIONS
5 & 5.1 | HORIZONTAL RAILS, HEAD/SILL DETAILS & TYPICAL ANCHORS
) VERTICAL STILES, JAMB DETAILS
7 TRANSOM HEAD/SILL/JAMB_DETAILS
7.1 & 7.2 | WATER INFILTRATION RESISTANT DOOR DETAILS
7.3 ADA COMPLIANT THRESHOLD DETAILS
8 PARTS DRAWINGS
9 BILL OF MATERIALS & HINGE OPTIONS
10 CORNER CONSTRUCTION DETAILS

SERIES ENV-350
ALUMINUM OUTSWING ENTRANCE DOOR

DOORS WITH STANDARD SECTION DETAILS NOT APPROVED FOR
INSTALLATIONS WHERE WATER INFILTRATION RESISTANCE IS REQUIRED.
SEE SHEETS 5 & 6 FOR DETAILS.

DOORS WITH WATER RESISTANT COMPONENTS APPROVED FOR
INSTALLATIONS WHERE WATER INFILTRATION RESISTANCE IS REQUIRED.
SEE SHEETS 7.1 & 7.2 FOR DETAILS.

THESE DOORS MAY BE USED IN CONJUNCTION WITH F.B.C.
APPROVED LARGE MISSILE IMPACT RESISTANT STOREFRONT SYSTEM.
LOWER DESIGN PRESSURE FROM DOOR OR STOREFRONT APPROVAL
WILL APPLY TO ENTIRE SYSTEM.

CODE REQUIREMENTS FOR SAFEGUARDS MUST BE OBSERVED.

THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO COMPLY WITH THE
REQUIREMENTS OF THE 2014 (5TH EDITION)/2017 (6TH EDITION) FLORIDA
BUILDING CODE INCLUDING HIGH VELOCITY HURRICANE ZONE (HVHZ).

1BY OR 2BY WOOD BUCKS & BUCK FASTENERS BY OTHERS, MUST BE
DESIGNED AND INSTALLED ADEQUATELY TO TRANSFER APPLIED PRODUCT LOADS
TO THE BUILDING STRUCTURE.

ANCHORS SHALL BE CORROSION RESISTANT, SPACED AS SHOWN ON DETAILS
AND INSTALLED PER MANUF'S INSTRUCTIONS. SPECIFIED EMBEDMENT TO BASE
MATERIAL SHALL BE BEYOND WALL DRESSING OR STUCCO.

A LOAD DURATION INCREASE IS USED IN DESIGN OF ANCHORS INTO WOOD ONLY.
ALL SHIMS TO BE HIGH IMPACT, NON—METALLIC AND NON-—COMPRESSIBLE.

MATERIALS INCLUDING BUT NOT LIMITED TO STEEL/METAL SCREWS, THAT
COME INTO CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE
REQUIREMENTS OF THE 2014/2017 FLORIDA BLDG. CODE & ADOPTED STANDARDS.

THIS PRODUCT APPROVAL IS GENERIC AND DOES NOT PROVIDE INFORMATION
FOR A SITE SPECIFIC PROJECT, i.e. LIFE SAFETY OF THIS PRODUCT, ADEQUACY
OF STRUCTURE RECEIVING THIS PRODUCT AND SEALING AROUND OPENING FOR
WATER INFILTRATION RESISTANCE ETC.

CONDITIONS NOT SHOWN IN THIS DRAWING ARE TO BE ANALYZED SEPARATELY,
AND TO BE REVIEWED BY BUILDING OFFICIAL.

MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION
IN ACCORDANCE WITH SECTION 1709.9.3 OF FLORIDA BUILDING CODE.
LABELING TO COMPLY WITH SECTION 1709.9.2.

INSTRUCTIONS:
USE DRAWING AS FOLLOWS.

1. SELECT SINGLE OR DOUBLE DOORS FROM SHEETS 2 & 2.1
OR SINGLE OR DOUBLE DOORS WITH TRANSOM FROM SHEETS
3 & 3.1.

2. SELECT DOOR AND FRAME SIZE.

3. DETERMINE IF THE DOOR WILL BE INSTALLED IN AN OPENING
WHERE THE WATER REQUIREMENT IS NEEDED OR NOT.

4, DETERMINE Dp RATING FROM SHEET 2, 2.1 OR 3 & 3.1.

5. SELECT GLASS TYPE FROM SHEET 1.1.

6, SELECT LOCK OPTION AND CORRESPONDING
MAX. DESIGN LOAD FROM SHEET 4 THRU 4.2.

7. SELECT ANCHORING CONDITION AND CORRESPONDING
ANCHOR TYPE AND NUMBER OF ANCHORS FROM SHEET 5.

8. SELECT JAMB OPTIONS FROM SHEET 6.

Q. SELECT HINGE OPTION FROM SHEET 9.

10, DETERMINE FINAL DESIGN PRESSURE FOR THE SYSTEM,

" TAKEN AS THE LOWEST OF ALL Dp VALUES OBTAINED.

DOORS ARE RATED FOR LARGE & SMALL MISSILE IMPACT.
SHUTTERS ARE NOT REQUIRED.

A— CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND
INSTALLATION OF THIS PRODUCT BASED ON THIS PRODUCT EVALUATION
PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED
ON THIS DOCUMENT.

B— THIS PRODUCT EVALUATION DOCUMENT WILL BE CONSIDERED INVALID IF
ALTERED BY ANY MEANS.

C— SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED
ENGINEER OR ARCHITECT WHICH WILL BECOME THE ENGINEER OF RECORD (E.O.R.)
FOR THE PROJECT AND WHO WILL BE RESFONSIBLE FOR THE PROPER
USE OF THE P.E.D. ENGINEER OF RECORD, ACTING AS A DELEGATED
ENGINEER TO THE P.E.D. ENGINEER SHALL SUBMIT TO THIS LATTER THE SITE
SPECIFIC DRAWINGS FOR REVIEW.

D— THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF
THE PROFESSIONAL ENGINEER OF RECORD THAT PREPARED IT.

FL #20701
AW T

4\.“- A -
& - TLORIDA, .
, @ Erbuden @ Q
4, SIo, e
7 L &
"!‘QU_IN ﬁ\ s

a_‘\
f
C}

|

COMP—ANL\W17—42ENV |

(C.A.N. 3538)

FAX. (305) 2626978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-81.00

FAX. (305) 406-3877 |i|(

5100 N.W. 72 AVENUE BLDG. C

MIAMI, FL. 33166

[ SERIES ENV-350 OUTSWING ENTRANCE DOOR (LM..)]
ENVIRALUM INDUSTRIES INC.
TEL. (305) 752-4411

|

)
5

GLASS & LOCK OPTION ADDED

by [description

(revisions:
(no[ date
A |06.13.17

{

[dote 04—-11-17
dr. by: TARIQ
chk. by:

|

drawing no.

W17-42
(sheet 1 of 10

Sealed: 07/28/2017




SILICONE

5/8" MIN. TYP.

GLASS BITE

DOW CORNING 791
GE 2000

1/4" HEAT STREN'D GLASS

.090” Interlayer

Trosifol PVB

By ‘kuraray America, Inc.'
OR

.080" Interlayer
SentryGlas

By 'Kuraray America, Inc.’

1/4" HEAT STREN'D GLASS

—

%

5/8" MIN. TYP.

GLASS BITE

EXTERIOR

O

GLASS TYPE ‘A’

SILICONE
DOW CORNING 791
GE 2000

1/4" HEAT STREN'D GLASS

.090" Interlayer

Trosifol PVB

By ‘kuraray America, Inc.’
R

.090" Interlayer
SentryGlas
By ‘Kuraray America, Inc.

1/4" HEAT STREN'D GLASS
1/2" AR SPACE

1/4" TEMP. GLASS

—_—

5/8" MIN. TYP.
GLASS BITE

EXTERIOR

GLASS TYPE ‘A1’

GLAZING DETAILS DOOR
LEVEL 'D’ IMPACT

EXTERIOR

GLASS TYPE ‘A’

21

5/8” MIN. TYP.
GLASS BITE

L

@\FH-H

|

EXTERIOR

N

GLASS TYPE ‘A1’

GLAZING DETAILS TRANSOM
LEVEL ‘D’ IMPACT

1/2" AIR SPACE CONSISTING OF:

SPACER:
ALUMINUM BOX SPACER ARQUND
THE PERIMETER OF THE GLASS.

PERIMETER SEALANT:

SILICONE
DOW CORNING 791
GE 2000

SILICONE
DOW CORNING 995

1/4” HEAT STREN'D GLASS

.180" Interlayer
SentryGlas
By 'Kuraray America, Inc.’

1/4” HEAT STREN'D GLASS

5/8" MIN. TYP.
GLASS BITE

GLASS TYPE 'B’

SILICONE
DOW CORNING 995

5/8" MIN. TYP.

GLASS BITE

1/4" HEAT STREN'D GLASS

.180" Interlayer
SentryGlas
By 'Kuraray America, Inc.’

1/4” HEAT STREN'D GLASS

1/2" AR SPACE

F 1/4" TEMP. GLASS

EXTERIOR

)

GLASS TYPE 'Bi’

GLAZING DETAILS DOOR
LEVEL ‘E’ IMPACT

5/8” MIN. TYP.
GLASS BITE

EXTERIOR

GLASS TYPE ‘B’

5/8" MIN. TYP.

GLASS BITE

EXTERIOR

GLASS TYPE ‘Bi’

GLAZING DETAILS TRANSOM

LEVEL ‘E’ IMPACT

f
C

{a
COMP—ANL\W1 7—42ENV]

(C.A.N. 3538)

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

|

FAX. (305) 406-3877

MIAMI, FL. 33166
TEL. (305) 752-4411

| SERIES ENV-350 OUTSWING ENTRANCE DOOR (LM..)]
ENVIRALUM INDUSTRIES INC.
5100 N.W. 72 AVENUE BLDG. C

|

(

)

by [description

(revisions:
o[ date

04-11-17
scale: 3/8° = 17 |

=4
<
=
¥y
[
°

da\e:

chk. by:

drawing no.

W17-42

Sealed: 07/28/2017




6" MAX. |

HEAD

CORNERS

51 1/2" MAX.

L =g g

EI :m'_o

. T

its] W | o

g ~@ 8

o] -2 ©
-

HINGE OPTIONS/

SEE SHEET 9

NOTE:

GLASS CAPACITIES ON THIS SHEET ARE
BASED ON ASTM E1300-09 (3 SEC. GUSTS)
AND FLORIDA BUILDING COMMISSION
DECLARATORY STATEMENT DCAO05-DEC-219

SEE SHEETS 7.1 & 7.2

SEE SHEETS 5 & 6

CORNERS

T SURFACE APPLIED
. FALSE MUNTINS OR
DECORATIVE GRILL

D.L.0. HEIGHT = DOOR FRAME HEIGHT — 14.9375"
D.L.O. WIDTH (X DOORS) = FRAME WIDTH — 12.8125"

D.L.O. WIDTH (XX DOORS) = (FRAME WIDTH — 21.875")/2

99 1/2" MAX.
FRAME WIDTH NO. OF ANCHORS ~ FRAME WIDTH
ANCHOR |AT MTG. STILE ENDS
TYPES [1/4" SHIM|3/8" SHIM ~
A 6 8 ; "
B 6 8 \‘\\ 3
% C 5 6 o __TYP. %
= mg ] S z 0
" 35 6" MAX. | N o
HEAD/SILL N el HEAD = S5
o CORNERS A s b
< 5 ‘}// \\\ M
| I O A A . |
] I J T 1T 1T 1 1 1 1
7 L [ . ol il L1
§ - ]
/ / AN
/ 1~ — / \ -+
/ N
—— Emel / ———
7] /
L} / —== —=—=—==
; == 6/ 1 / EN 1
® S ®
/
A - Yy, [
. / N\ ,
______ . IS § I
Ar--TEE = — 28 _ % =L 4 ====== Ar--T=" x 4+ 2 0
- 3 E § = Z e / . N\ s |
o|” § O =5 - 8 ya o N
= w 9 0O /
T oY | — S & E—
ol » — | V4
&l e ITH o .
! e ¥ g ~8 8 = g L SN
\: ______ ,_h‘"}_._\;‘:::: |— :: ] \\ ::::::qf_‘_’s_\;:::/:/
. il _ L N 7\\ i
\”\T\__ SURFACE APPLIED = N 4 1
~__ FALSE MUNTINS OR N\
DECORATIVE GRILL \
-— MAY BE USED — U | T | O S -— MAY BE USED
AN
e L N bl
AN
AN /
\ T ST \ / s —
\, e — AN Z
T— /— [ ACTIVE = = INACTIVE F—
3»H / [ 1 [ 1 I\\I\III/I/'I {1
5 <
- " HINGE OPTIONS C—)
Jq oyt _MAX. SEE SHEET 9 5
SiLL 3"
CORNERS 4 MAX.
T AN STiLE ENoS
CORNERS 3 00
(5) FOR HT. UPTO 98~ o
”» I » 3
(6) FOR HT. ABOVE 98 (XX) GLASS D.L.O. DIMS.
LEVEL ‘D’ IMPACT
DESIGN PRESSURE RATING (GLASS TYPES ‘A & lAl’) REMARKS
WHERE WATER INFILTRATION| WHERE WATER INFILTRATION SEE SHEETS
REQUIREMENT IS NEEDED |REQUIREMENT IS NOT NEEDED
4 & 4.1 FOR
+60 PSF +100 PSF LOCK OPTIONS AND
—-100 PSF -100 PSF LIMITATIONS
WITH WATER RESISTANT WITH STANDARD DOOR
COMPONENTS ADDED SECTIONS

75,

W

SRR I
. \,\GENS ..? ,,’
N -

SiopaL B

SThim e

(CA.N. 3538)

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

5100 N.W. 72 AVENUE BLDG. C

MIAMI, FL. 33166
TEL. (305) 752-4411

ENVIRALUM INDUSTRIES INC.

[ SERIES ENV-350 OUTSWING ENTRANCE DOOR (LM..)]

|

COMP—ANL\W17—42ENV |

|

FAX. (305) 406-3877

)

by [description

(revisions:
ol date

\ %D AHM l/////

scale: 1/2"=1'-0"

(dot\: 04-11-17

|

dr. by: TARIQ

chk. by:

|

no.

W17—-42
[sheet 2 of 10

Sealed: 07/28/2017




>
51 1/2" MAX. 99 1/2" MAX. &
FRAME WIDTH NO. OF ANCHORS FRAME WIDTH m ?
ANCHOR |AT MTG. STILE ENDS |
TYPES [1/4" SHIM|3/8" SHIM| — ~ =
A 5 7 S . 2 S RI=
B__| 5 7 > 3 O, © 25
. c 4 5 S, TP, % =2z °{|z
) i < o0 P=w
2 of S = of <z 3%e
6" MAX. 16" MAX. s, |22 6" MAX. S s, |32 gd Ja|z
HEAD = HEAD/SILL SI[SE HEAD N 16" MAX. 5% Se=gl3
A ) 4 ) Qadga ¢
CORNERS © CORNERS A e HEAD/SILL © N ;
D <+ 5 BT ~ A QG 2
I - | E(ENEERN | | - 8530
S on
11T ] - X O2uN
f } L
s % N OFk 2 8
-1 ’ / I -1 / AN | de Qaogd
I / / N " O%LE g
i / N EL29 s
e :::::?{z/:::: T . 8 —_ // ::::&\ﬁ:::: T . % E Hau-_ g
-~ = = —
(o At i (e , N S IE L Egz
e/ s —— \e / (B THAN — <Z05 ¢
S @ , S | 4 |
1 6 1  ——
é' f—/:::::jnt:::::: — § // :::::::”:::::}\ —r
= : o = T ; =T T —
15 2 =ls ” )i 15 2| =g . I N = N
é ) ] e | (F é G Z |0 S 1 //. e ] 0
=t L 25 P min =E L2 2 % WS H- = i
e Sl =2 | AN Wl S |2 \ Ve AN S| .o ¢
S0 v o g o o ~ =N | ¥
8 u) é 8 \:::::::‘:’%—/:::::\__‘u J___ 8 [Te) é 8 e \ // :::::::4“%:::::1\‘// - o O (_'5 ~~
® T AN I ~ SURFACE APPLIED o AN I 7 T SURFACE APPLIED gl£9 8
N 1 “{.__FALSE MUNTINS OR N I % “{.__FALSE MUNTINS OR = a 2
Nt DECORATIVE_GRILL N 1 DECORATIVE GRILL el v .
T i T~ MAY BE USED T N o T MAY BE USED Sy =
I I
:::::Xﬁ::::: \ i::::ﬂ{__::: % 6 EJ
—_ N s —_ AN A —r— =EID>0 ~
i > 4 JEREE:
n N\ N el S=qgm Y
- \ -+ — N / 1 gls™" g
N ol N / RIS
o 5 _/_‘ﬂ‘ ——— — S~ z % - > L ™
B ‘ ACTIVE T H ‘ ACTIVE L4 INACTIVE H— SE<..8
g Ly I iy A / E g1y i i /|/. \f i I L I m S 8 2 \.’
/ [l JI 1 [ 1 I ENERRILPA I 1 gﬁ-—%d
3" S » n= =
HINGE OPTIONS _ @ —JGJﬂ— 4" MAX HINGE OPTIONS B 38 7/8 e
SEE SHEET 9 5 . 1 | SEE SHEET 9 D.L. OPG. e
38 7/8 SILL - ~ 2
D.L. OPG 4" MAX. TYPE B 47 7/8
47 7/8" SILL AT STILE ENDS LEAF WIDTH
TEAE WIbT] CORNERS 3" o.C.
=
(X) (XX) i
ol
[
@
LEVEL ‘E’ IMPACT o
DESIGN PRESSURE RATING (GLASS TYPE ‘B’ & 'Bl') REMARKS B
WHERE WATER INFILTRATION| WHERE WATER INFILTRATION SEE SHEET GLASS D.LO. DIMS, "
REQUIREMENT IS NEEDED |REQUIREMENT IS NOT NEEDED 4.2 FOR D.L.0. HEIGHT = DOOR FRAME HEIGHT — 14.9375" |l
. n =[O
POSITIVE +60 PSF +100 PSF LOCK OPTIONS AND D.L.O. WIDTH (X DOORS) = FRAME WIDTH - 12.8125 ., cg o
NEGATIVE ~100 PSF ~100 PSF LIMITATIONS D.L.O. WIDTH (XX DOORS) = (FRAME WIDTH — 21.875")/2 Be
WITH WATER RESISTANT WITH STANDARD DOOR = 2
COMPONENTS ADDED SECTIONS 5
SEE SHEETS 7.1 & 7.2 | SEE SHEETS 5 & 6 )
| o
s || 5)°
BIERFRIE:
NOTE: e i
GLASS CAPACITIES ON THIS SHEET ARE drawing o,
BASED ON ASTM E1300-09 (3 SEC. GUSTS) W17—42
AND FLORIDA BUILDING COMMISSION
DECLARATORY STATEMENT DCAO5-DEC—219 (sheet 2.107 10)

Sealed: 07/28/2017




[ AN3ZH—LLM\INV—dWOD [ zz8e-90% (s0g) xvd  Livb-z8s (S08) 3L )
r 8L69-29T (S0E) "Xv4 00T8+9Z (SOE) 1L 9g91¢s 14 “INVIN
 J (8gse "N'VD) €LTEE YAIHOTH ‘TANVIN D 9a1g ANNIAY ZZ M'N 001S
0ZZ 31INS ‘dAIHd 13SNNS 09E6 .
k IN3IWJOTIAIA LONAOYUd @ SHIINIONT || ONI S3IJLSNANI WNTVHIANT Uondussap kg 555 Tou
L E | NOILYHOJdHOD DOONV-TY @._.Ev 4000 JONVINI ONIMSLNO 0SE-AN3 &_5& ( SUCISIAD])
LI
mulu_4453
R
aa
=z
Ss =
z2 =
Hm WW_3353 m
ozl | o
2 <14 Mwn
I m
CPABBC
zF 3
c
SYINYOD
anvr ) Sanvr _
XN dAL XYW .6
H/E ¥ £ ;ﬂm
Ve ~N
| | I I I | | | | _
[} ¥ 1 1 L I T 1 1 i 1 ] ) J 1 !
s = 1
\_\_\ :/
i pal AN 0
__ N __ N __
i s I K I . T
/! I b N 18 RI5
L, 12 i \1||||_nw1/Hym.4VV%_ |||||| ___. NEENE
%L T NN e N w old ~|=
~%lg il I L AN = Pl <8
0 =g a I L L N 13 4
M 3= = I Il | I <
7 I i !l N =
) / i I N = \/
T " 1 -~
ik N 4 2 X
] w N 4 — 1 x
N NN _ “ AN
= —_ AN A ]
& N _ L7\ O
o | N - N ~
—— / BS Qn E
f O~ N\ \\ w _m.._m S % %
w(~ /// ///// J Z WEymM
N 2 ¢f 58
T N / @ S 8= g
N / — _BT o< TE <
N s .| % S 5
N / JV raye -
e o~
1= = Tt °F g
1 I ] 1 __\_ | I T T | : | | 1 1 ,./_ 1 1 1 1 T | =
- | [ AL [ L1 [ _ _ _ _/ ! 2
fia ~—1 |- d o»
gqL = gl 3.8 < &
* Hm “_DNn o =
w
©l © "9d0 "TQ "5d0 14 ¥ 8 2 5
|
o IHOEH aval 22 < 5
© S = =
S 1H9[@AH WOSNVHL 1HOEH ¥00d 5z o N
-0 o
x Moo LHOI3H 3NV oy m o
Sy NN Lol Z0 = =
e = = =
)P)
sre o 2 2
9o S| &
SuE ol
oaZOO o
%Zwh QS
SYINYOD = o o» L
anvre SANVE ., OZTqw .5 -
e A XVH .6 Eue> Z5E "
/S Y 1= 538% “ 8 5
/ N nLa= i
_ | [ | [+ | | | _ | _ | | T
I I I I T 5 71 I I I T T I I LY T I %]
_ += _ _ / -|L|a ]
N 7~ _ v
N @e ! A4
N | v/ "
¢ | N | | | / =
28 2 X Mol W el sgeBER
. O | = o
™ 1WW // nHHHLVIHHHHHHH{/I,VI/H«/M,,H[HHHHHHUr\HHHH n_u U o U = /
S8 =3 N TN I NN AT < w
— 4 . | I | © |-~ O
JETE AN BEsE S
o & ! N i! 7 .
TN (o~ 1 N __ J i |1@
@U AN 1P
AN 7 4
] 1 1 L 1 ___\ _Ii_-r | 1 I 1 1 1 1 1 L N |
" [ _ [ ' NI | _ _ | | _ _ | ™~
o ~Nle
258 D & ™
% HW no
© '9d0 T '9d0 T1Q wa
LHOEH 4va1 WM
Ll
LH9IFH WOSNVAL 1HOI3H ¥00Q mm
LHOEH NV T

KYN L FTL

Sealed: 07/28/2017



LEVEL ‘D’ & 'E’ IMPACT [ TRE
SINGLE OR DOUBLE DOORS WITH TRANSOM SINGLE OR DOUBLE DOORS WITH TRANSOM SINGLE OR DOUBLE DOORS WITH TRANSOM mh §
CAPACITY — PSF CAPACITY - PSF CAPACITY - PSF \ 1
WITHOUT WITH WITHOUT WITH WITHOUT WITH Z S
REINF. REINF. REINF. REINF. REINF. REINF. 0. ﬁ 2 g
FRAME/TRANSOM | DOOR |TRANSOM| EXT.(+) [ EXT.(+) FRAME/TRANSOM | DOOR |TRANSOM| EXT.(+) | EXT.(+) FRAME/TRANSOM | DOOR |TRANSOM| EXT.(+) | EXT.(+) =T
WIDTH HEIGHT | HEIGHT |  INT.(-) INT.(-) WIDTH HEIGHT | HEIGHT |  INT.(-) INT.(-) WIDTH HEIGHT | HEIGHT |  INT.(=) INT.(=) <z Zafg
24" 78.3 100.0 24" 71.5 100.0 24" 64.7 100.0 Ecocd §
37-3/4"|75-1/2" 30" 722 100.0 37-3/4"|75-1/2" 30" | 662 100.0 37-3/4"[75-1/2" 30" 60.2 95.1 2 E‘ﬁ 2
x) (xx) 36" 66.7 100.0 ) (xx) 36" 61.4 96.2 ) (Xx) 36" 56.0 87.8 @ok E
42" 61.7 95.7 42" 57.0 88.5 42" 52.3 81.1 Oban
48" 57.2 87.8 48" 53.0 81.4 24" 54.2 86.5 03 gﬁ
24" 65.7 100.0 24” 60.0 95.6 40-3/4"|81-1/2" 30" 50.2 79.8 OgE"9 g
40-3/4"(81-1/2" 30" 60.3 95.1 40-3/4"[81-1/2" 30" 55.2 87.2 ) XX | 1027 | 36" 46.5 72.6 8 323 §
(x) (xx) 36" 55.4 86.4 (x) (XX) 36" 51.0 79.6 42" 43.2 66.6 &2 %5 @
42" 50.9 78.6 42" 47.1 72.6 43-3/4"[87-1/2" 24" 45.9 73.2 o u au": 8
80" 48" 46.9 71.4 50" 48" 43.5 66.3 x) (xx) 30" 42.3 66.6 l.I'L % 8:2,;- 8
24" 55.7 88.7 24" 50.8 80.9 46-3/4"| 93-1/2" 24" 39.9 62.4 < Z8s EJ
43-3/4"(87-1/2" 30" 50.7 79.9 43-3/4"87-1/2" 30" 46.5 73.2 (x) (Xx) -
(x) (XX) 36" 463 72.0 (x) (XX) 36" 42.7 66.3 24" 61.7 98.5 e
42" 42.4 64.8 42" 39.2 59.9 37-3/4"| 75-1/2" 30" 57.5 91.0 ; =
48" 38.8 58.3 24" 433 69.0 ® | o 36" 53.7 84.1 = -
24" 475 75.6 466‘:‘)/ + 93&%2" 30" | 395 61.9 108" o 51.8 82.6 gl o 8
46-3/4"| 93-1/2" 30" 43.0 67.5 36" 35.9 55.4 40-3/4"|81-1/2" 30" 48.0 75.8 - L 8’ s
(x) (Xx) 36" 39.0 60.2 49-3/4" 99-1/2" 24" 37.2 59.1 (x) (XX) 36" 44.6 69.6 2|\ = 8
42" 35.4 53.6 X) (xx) 30" 33.6 52.5 43-3/4"(87-1/2" e 43.9 69.9 § @ W é
] ] 24" 408 64.8 24" 67.9 100.0 o | %) olE2 =
49-3/4"199-1/2 30" 36.7 57.2 37-3/4"| 75-1/2" 30" 63.0 99.7 =190
®) ) 36" 33.0 50.5 x) (xX) 36 58.6 91.8 E azo n
24" 75.4 100.0 42" 54.5 84.6 3| Z ,Qlﬁ I
37-3/4"|75-1/2" 30" 69.7 100.0 48" 50.8 78.0 § = . .0
(X) (xX) 36" 64.4 100.0 24" 57.0 90.9 4 3 ;ﬁ o
42" 59.7 92.7 40-3/47| 81-1/2" 30" 52.6 83.1 & é o= )
48" 55.4 85.1 x) (Xx) 36" 48.7 75.9 /@> @ /@ g % o< d
24" 63.3 100.0 o5r | 42" 45.0 69.5 ' ) Lin=r
40-3/4"| 81-1/2" 30"  58.1 91.8 48" 41.7 63.5 () () (&) () S ——
(x) (xx) 36" 53.5 83.5 24" 48.2 76.9 TSNS SURTNNR
42" 49.3 76.1 43—;/4" 87—)(:(/2' 30" 44.3 69.7 T
.| 48 45.5 69.3 ® ) 36" 40.7 63.2
84 24" 53.6 85.4 46-3/4"| 93-1/2" 24" 41.2 65.5 TRANSOM WITHOUT REINF. TRANSOM WITH REINF.
43-3/4"|87-1/2" 30" 49.0 77.1 ) (xx) 30" 37.6 58.9 S
(x) (XX) 36" 44.8 69.6 49-3/4"[99-1/2" 24" 5.4 56.1 E—.‘
42" 41.0 62.8 &) (xx) 5
48" 37.6 56.6 o
24 45.7 72.8 B
46-3/4"|93-1/2" 30" | 415 65.1 ’
x) (xx) 36" 37.7 58.2 5ite
42" 34.3 51.9 2|0
24" 39.3 62.4 e )
49-3/471 99-1/2° 0" | 354 55.2 SIS =~
) (%) 36" 31.9 488 QpD Ak, N
¥ uceNss 10 T €
. 1 g
>
NOTE: >
GLASS CAPACITIES ON THIS SHEET ARE (drawing no. |
BASED ON ASTM E1300-09 (3 SEC. GUSTS) AR
AND FLORIDA BUILDING COMMISSION S ey || W17-42
DECLARATORY STATEMENT DCAQ5-DEC-—-219 7, "ONAL

\
RTINS

sheet 3,10f 10

Sealed: 07/28/2017




LOCK OPTIONS: LEVEL ‘D’ IMPACT

STD. 3 POINT LOCK (LEVEL ‘D’ IMPACT ONLY) STD. 3 POINT LOCK (LEVEL ‘D' IMPACT ONLY) STD. 3 POINT LOCK (LEVEL ‘D' IMPACT ONLY)
MAX. FRAME HEIGHT = 120 IN, MAX. FRAME HEIGHT = 120 IN, MAX. FRAME HEIGHT = 120 IN.

MAX. LEAF WIDTH = 48 IN. MAX. LEAF WIDTH = 48 IN. MAX. LEAF WIDTH = 48 IN.

MAX. DESIGN LOAD = 100 PSF MAX. DESIGN LOAD = 100 PSF MAX. DESIGN LOAD = 100 PSF

3 POINT LOCK SYSTEM BY 'INTERLOCK' AT 40" THREE POINT LOCK SYSTEM SERIES 2222 BY KEY OPERATED THREE POINT LOCK SYSTEM BY

FROM BOTTOM 'REGENT HARDWARE' "ADAMS RITE'" WITH CONCEALED FLUSH BOLTS AT TOP &

HANDLE ACTIVATES DEAD BOLT AND SHOOT BOLTS
ENGAGING AT HEAD AND SILL

KEY OPERATED ON EXTERIOR AND THUMB TURN ON
INTERIOR

FASTENED TO ACTIVE LEAF LOCK STILE WITH

(2) #8-32 X 2" OH MsS

INACTIVE LEAF;

2 POINT LOCK SYSTEM BY 'INTERLOCK' AT 40"
FROM BOTTOM

HANDLE ACTIVATES SHOOT BOLTS ENGAGING AT
HEAD AND SILL

FASTENED TO INACTIVE LEAF LOCK STILE WITH
(2) #8-32 X 2" OH Ms

INACTVE \

A
I
Il
Il
it
Il
Il
Il
i
ifi
i1
fi
N AN 7/
N ‘e N\ -BAEL /
| i
| I
| Il
| I
[ Il
k14

KEY OPERATED FROM EXTERIOR AND THUMB TURN
ON INTERIOR WITH CONCEALED FLUSH BOLTS

AT TOP & BOTTOM OF LOCK STILE

LOCATED AT 40" FROM BOTTOM OF LEAF

INACTIVE LEAF:

MANUALLY OPERATED TWO POINT LOCK SYSTEM BY
'REGENT HARDWARE’ WITH CONCEALED FLUSH BOLTS
AT TOP & BOTTOM OF LOCK STILE

FASTENED WITH

(2) #8-32 X 1/4" PH MACHINE SCREWS

'ADAMS

BOTTOM OF LOCK STILE AND A THUMB TURN ON THE
INTERIOR, LOCATED AT 40" FROM BOTTOM OF PANEL
FASTENED WITH

(2) #12-24 X 1/2" FH MACHINE SCREWS

INACTIVE LEAF:
MANUALLY OPERATED TWO POINT LOCK SYSTEM BY

RITE' WITH CONCEALED FLUSH BOLTS AT TOP &

BOTTOM OF LOCK STILE
FASTENED WITH
(2) #8—-32 X 1/4" PH MACHINE SCREWS

— | i
/| /N /| AN
4 AN A 2
/ | / i \ / | / i \

/ l R 1 A / l A
a7l /7 Nl Z N | /o7 7N
20 W7 I |

7 ! i > i I Il
\ _ﬂ \ _ﬁ& 4 AN _é \ 'E 1
AN N\ / AN N\ ﬂ 7/
| N 1% | o
N N 7 N N 7
actve \[[| nactive \J 1|1/ actve acve \ | acve | ||/ active
h1ld

PANIC EXIT_ DEVICE (LEVEL ‘D' IMPACT ONLY)
MAX. FRAME HEIGHT = 98 IN.

MAX. LEAF WIDTH = 48 IN.

MAX. DESIGN LOAD = 75 PSF

ACTIVE & INACTIVE LEAF:

CONCEALED VERTICAL ROD PANIC EXIT DEVICE # 5770 BY
‘REGENT HARDWARE' LOCATED AT 40"

FROM SILL AT EACH LEAF.

FASTENED WITH

(1) #10 X 3/8” FH SELF DRILLING SCREW AT ONE END AND
(2) #10 X 1/2" FH SELF DRILLING SCREWS AT OTHER END

7
/ﬂ ZHHIN
/ / AN
- 2N
/ | /. 1l A
PR {1728 I/ N
Vi | < i
Bt 1l
N S 1Y /
P [P——4
N A (111 4
N Nl s
ACTVE \ : active \J || / ACTIVE
b

PANIC EXIT DEVICE (LEVEL 'D' IMPACT ONLY)
MAX. FRAME HEIGHT = 120 IN.

MAX. LEAF WIDTH = 48 IN.

MAX. DESIGN LOAD = 100 PSF

ACTIVE & INACTIVE LEAF:

CONCEALED VERTICAL ROD PANIC EXIT DEVICE # GB86 BY
'ADAMS RITE' LOCATED AT 40" FROM SILL

AT EACH LEAF.

FASTENED WITH

(2) #10-32 X 3/4" FH MACHINE SCREWS AT ONE END AND
(2) #10-24 X 1/2" FH MACHINE SCREWS AT OTHER END

1l m
// : // : : \\
| i
| VAR 111 BN
| i
/ . ! /7 it 7 N\
s
d 70 i p
\ _____ rLé _____ Nl =—=== ér
Pl [Pl
NI AN 1 e
acive \[| mactive N [/ actve
]

PANIC EXIT DEVICE (LEVEL ‘D' IMPACT ONLY)
MAX. FRAME HEIGHT = 120 IN.

MAX. LEAF WIDTH = 48 IN.

MAX. DESIGN LOAD = 100 PSF

ACTIVE & INACTIVE LEAF:

CONCEALED VERTICAL ROD PANIC EXIT DEVICE PRECISION 2800
BY ‘STANLEY' LOCATED AT 40" FROM SILL

AT EACH LEAF.

FASTENED WITH

(2) #10-32 X 3/4” FH MACHINE SCREWS AT ONE END AND
(2) #10-24 X 1/2" FH MACHINE SCREWS AT OTHER END

| i
/| / i N\
/| VA 1111 I
7 N 1111
/ I /17. (i AN
2 e I V
S\ Y| R | AN 1 | /
=== (e s=== ===
N\ | N\ i /
N N 7
acive \J| | macve \|1 [}/ acve
] b4

FRAME HEIGHTS DOES INCLUDE
OPTIONAL TRANSOM

a W
f
C|

f
COMP—ANL\W17—42ENV |

(C.A.N. 3538)

FAX. (305) 2626978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

QMLMW{

FAX. (305) 406-3877 -J

MIAMI, FL. 33166
TEL. (305) 752-4411

[SERIES ENV-350 OUTSWING ENTRANCE DOOR
5100 N.W. 72 AVENUE BLDG. C

ENVIRALUM INDUSTRIES INC.

N
by [descriplion ) {

(revisions:
(no[ date

.

|

*
-
]

13
[1s]
~
Le)

&
o
o
]

dr. by: TARIQ

chk. by:

=

. .
drawing no.

W17—-42

(sheet 4 of 10)

Sealed: 07/28/2017




LOCK OPTIONS: LEVEL ‘D’ IMPACT (L Q)3
“ &
m ¢
PANIC EXIT DEVICE (LEVEL 'D’ IMPACT ONLY) PANIC EXIT DEVICE (LEVEL ‘D’ IMPACT ONLY) e
MAX. FRAME HEIGHT = 98 IN. MAX. FRAME HEIGHT = 98 IN. 4 20|z
MAX. LEAF WIDTH = 48 IN. MAX. LEAF WIDTH = 48 IN. 0. 2 & -
MAX. DESIGN LOAD = 100 PSF MAX. DESIGN LOAD = 100 PSF I: E ”8 Z
I
ACTIVE & INACTIVE LEAF: ACTIVE & INACTIVE LEAF: 14 Qo § 3
N <
CONCEALED VERTICAL ROD PANIC EXIT DEVICE SERIES 8400/8600 | 'VON DUPRIN 98/99' CONCEALED VERTICAL ROD PANIC EXIT DEVICE E EN .
BY ‘SARGENT ASSA ABLOY' LOCATED AT 40" LOCATED AT 40™ FROM BOTTOM xok E
FASTENED WITH FASTENED TO ACTIVE LEAF WITH WITH O52m
(2) #12 X 1" HH SELF DRILLING SCREW AT ONE END AND (6) 10-24 X 1-1/8" PH MS 032 apR
(2) #14 X 3/4" PH SELF DRILLING SCREWS AT OTHER END aud
OEE™Q
Qaagd
TR O%Lz <
| i | —— 1IN XLLo &
/| ZHIN /| /N Cu5L 5
i 7N i 7 N u.-%gg'g
/ : / n N\ / ! / ! AN -0 5
/ i VR (111 BEPAN / . VPR 111 BEPAN <5550
| 2 111 B 7z 2 1 B ——
2 ' il 7 | ' ihf 7 —
SN |/ RO | ‘N {1 - 2
Noooo ) NS ! E— 41, i AN NS | — 41, 3 3
i _\____d@ X“”“?Q____? \____:N$ \____@$____7 o z
A | A 11— N N s gl .° <
N | N N N s i%oﬁ
acve \[] nactve \|![1[/ actve acmve \[| macrve \| [}/ acve 2|=9 g
1| bl | B Elno >~
Zlgy 3
2o &
518x8 ¢
= 23
2l="" 8
HEETEN
Z2%_8
wnilsozs >~
o % O«x
Gl ez H
: —— f:
c
o
&)
o
4
[0
3]
ol
2|5
%o
gE
AL
iele
158
& (182
LS
drawing no.
W17—42
(sheet 4.10f 10)

Sealed: 07/28/2017




LOCK OPTIONS: LEVEL ‘E’ IMPACT

STD. 3 POINT LOCK (LEVEL ‘E' IMPACT)
MAX. FRAME HEIGHT = 98 IN.
MAX. LEAF WIDTH = 48 IN.

MAX. DESIGN LOAD = 100 PSF

ACTIVE LEAF:

THREE POINT LOCK SYSTEM SERIES 2222 BY
"REGENT HARDWARE'

KEY OPERATED FROM EXTERIOR AND THUMB TURN
ON INTERIOR WITH CONCEALED FLUSH BOLTS

AT TOP & BOTIOM OF LOCK STILE

LOCATED AT 40" FROM BOTTOM OF LEAF

INACT! F:

MANUALLY OPERATED TWO POINT LOCK SYSTEM BY
'REGENT HARDWARE' WITH CONCEALED FLUSH BOLTS
AT TOP & BOTTOM OF LOCK STILE

FASTENED WITH

(2) #8-32 X 1/4" PH MACHINE SCREWS

K
/| AN
7 7
/ | / il N\
/ | L2 A
G T 1/ (0
Ve
S [k
AN
N I
N Nl 7
N N 7
acve \]| mactve N Uf! 1/ active
ALy

STD. 3 POINT LOCK (LEVEL ‘E' IMPACT)
MAX. FRAME HEIGHT = 98 IN.

MAX. LEAF WIDTH = 48 IN.

MAX. DESIGN LOAD = 100 PSF

ACTIVE LEAF;

KEY OPERATED THREE POINT LOCK SYSTEM BY

'ADAMS RITE’ WITH CONCEALED FLUSH BOLTS AT TOP &
BOTTOM OF LOCK STILE AND A THUMB TURN ON THE
INTERIOR, LOCATED AT 40" FROM BOTTOM OF PANEL
FASTENED WITH

(2) #12-24 X 1/2" FH MACHINE SCREWS

INACTIVE LEAF:

MANUALLY OPERATED TWO POINT LOCK SYSTEM BY
'ADAMS RITE’ WITH CONCEALED FLUSH BOLTS AT TOP &
BOTTOM OF LOCK STILE

FASTENED WITH

(2) #8-32 X 1/4" PH MACHINE SCREWS

/1 /1IN
/| / \
/ : / N\
/ | /. 2\
a2l /7 7\
|
|

T
~N
N

INACTIVE ™\

e
7
[ ————
e
e
e e

S

PANIC EXIT DEVICE (LEVEL ‘E’' IMPACT)
MAX. FRAME HEIGHT = 98 IN.
MAX. LEAF WIDTH = 48 IN.

MAX. DESIGN LOAD = 100 PSF

ACTIVE & INACTIVE LEAF:

CONCEALED VERTICAL ROD PANIC EXIT DEVICE PRECISION 2800

BY ‘STANLEY’ LOCATED AT 40" FROM SILL
AT EACH LEAF.
FASTENED WITH

(2) #10-32 X 3/4" FH MACHINE SCREWS AT ONE END AND
(2) #10-24 X 1/2" FH MACHINE SCREWS AT OTHER END

A / m N
/| 2N TR
/ : / : : AN
/ I /. 1 A
a : a7 : : 7\
7z | < ' i ’
M| i
AN N\ /
=== (o=
N AN 11 4
N h N s
acrve \J| macrve \| 1|1/ acmve
4| 4]

PANIC EXIT DEVICE (LEVEL 'E’ IMPACT)
MAX. FRAME HEIGHT = 98 IN.
MAX. LEAF WIDTH = 48 IN.

MAX. DESIGN LOAD = 100 PSF

ACTIVE & INACTIVE LEAF:

BY 'SARGENT ASSA ABLOY' LOCATED AT 40"
FASTENED WITH

PANIC EXIT DEVICE (LEVEL 'E’ IMPACT)

CONCEALED VERTICAL ROD PANIC EXIT DEVICE SERIES 8400/8600

(2) #12 X 1" HH SELF DRILLING SCREW AT ONE END AND
(2) #14 X 3/4" PH SELF DRILLING SCREWS AT OTHER END

1l m
sl ZIHN
/| VAl 1 RN
/ ! / i N\
/ | /. il 2\
0128 B
7| it
| i
AN ISR I 1 —— 4
Aesc===1 qeg====flil====>
N N 7
N N
acmve \[| actve \| 1|11/ actve
hid

MAX. FRAME HEIGHT = 98 IN.
MAX. LEAF WIDTH = 48 IN.
MAX. DESIGN LOAD = 100 PSF

ACTIVE & INACTIVE LEAF:
‘VON DUPRIN 98/99" CONCEALED VERTICAL ROD PANIC EXIT DEVICE
LOCATED AT 40" FROM BOTTOM

FASTENED TO ACTIVE LEAF WITH WITH
(6) 10-24 X 1-1/8" PH MS

1l M
s ZI N
/| V2Nt RN
/ ! / il N\
| ‘% M 2
7y | 25 2Nl
O i y
A DS ! —— 4l
Pl [Pt
N A 1| 4
N N il
acive \[| mactve 11/ acve
Y

TN I
I

|
|
)

COMP—ANL\W17—42ENV |

f
C

FAX. (305) 262-6978 ||

‘a

(C.A.N. 3538)

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

|

FAX. (305) 406-3877

MIAMI, FL. 33166
TEL. (305) 752—4411

[ SERIES ENV-350 OUTSWING ENTRANCE DOOR (LM.L)

|

ENVIRALUM INDUSTRIES INC.
5100 N.W. 72 AVENUE BLDG. C

)

by [description

(revisions:

|
Ut

| |[no] date

| ]
-
]
1
[+
~
g}
P
<]
o
]

<4
4
=
¥y
A
°

(da}e: 04-11-17
chk. by:

|

drawing no.

W17-42
(sheet4.20f10)

Sealed: 07/28/2017




5/8" MIN.

EDGE DIST.

TYPICAL ANCHORS
SEE ELEVATIONS
FOR SPACING

THROW BOLT —_ e iy
NG T |
PENETRATION 2 Y 3000 PsiGONC.
Rt B L) O S
— U _ |
Y Y
\ . ld
Q
N 32
A ng
L T
{ { oz
o BEE @) S
Lo
[ I
! ; : |
I 7
R )
g b Ry
@
T
no
|
i<
: ®
s S
= - m
5 e E |
LJ
T % M
& ] &l
o b
[a] ul »
é li
|i :! :'
G ]
A<l
: irs
R i
- =
@
[
[
[
[
[
r [ E
L
[
¥
|1 17
NOT APPR'D N
FOR WATER |p—d-l _ ¢
RESISTANCE  |\l——f—i—t
: | & :
I
oo 39
[
GD\ L 1er |
—t-1-
; (— 'mw
— T

THROW BOLT
PENETRATION

L - LS
. "5/8" MIN.

EDGE DIST.

v

3000 Pt CONC.

TYPICAL ANCHORS
SEE ELEVATIONS
FOR SPACING

JHRESHOLD NOT ADA COMPLIANT

SEE SHEET 7.3 FOR ADA COMPLIANCE

—1

ALT.

ALT. T0 10

NOT APPR'D 39
FOR WATER R ) —_—
RESISTANCE = —
| &
| | |
@ ||_te
S S
T ]
5 —“}z B I L T %
T A hife % . B0p0 PSI CONC.
. .- - Y ; N 7 i - . )
. Y5/8" MIN. J (39) -

THROW BOLT
PENETRATION

EDGE DIST.

TYPICAL ANCHORS
SEE ELEVATIONS
FOR SPACING

&7

S Seosn '@@
Ui >

(W VIE
Y ||
(Y]
(o]
i
e ~
Z =Rz
0o 2 ald
-5 = 81z
ke =¢8]
L < gl=
mOQEQO
og§ ¢&[°
o .
Loy X%
o u
3
Q&ap
-k
QEE" S
Qaaogd
Q2L
mn:zg“'
qQuU3SL g
u_%tn_-o
P <08 2
2882
LiLos ¥
L-.—J_ o
—
L
= N
=
[0’
gl .© &
Ddo *
HiZa @
= I 2
Zleppm >
Zi .y X
UJ&D w
2ln &
=D >0 ~
NI <o ~
'SZN~—§
O—,\QI
3= 0
HEERN
= z 9
L*-'é _~r9)
nilsL=
Llzox |
Glanh=E ¥
\._J
—————
[ g
°
LS
=
| N
(&)
(723
[ Y
o
>
Tl
“
fad | £
o5
0o
'S
V]| Ke]
28 J
]
0
~
"
P
o
3
—_—
drawing no.

sheet 5 of 10

Sealed: 07/282017




(e

[F3]
X
EDGE DIST __ _1BY WOOD BUCK . EDGE DIST. 8¢
J— —_cd\ n (SEE NOTE SHEET 1) 2 &
% a, --" S I \ . o 8 =
oo peieane, . hlTL/ B0 N8 2
S —— 7 Bo5 Y
A — 1 / 2z | B
N — R ] NGE
& [ ]
Y WY T 7
. E)J | )
: 4 %
I Iy n . /(,' ;
Zaps E < e ©
L) B >

TYPICAL ANCHORS
SEE ELEVATIONS
FOR SPACING

TYPICAL ANCHORS
SEE ELEVATIONS
FOR SPACING

TYPICAL ANCHORS: SEE ELEV. FOR SPACING

_I_WPE 'A'— 5/16" DIA ULTRACON BY 'ELCO’ (Fu=177 KSI, Fy=155 KSI)

’ INTO WOOD STRUCTURES

2" MIN. PENETRATION INTO WOOD (HEAD/SILL/JAMBS)

‘ THRU 1BY OR 2BY BUCKS INTO CONC. OR MASONRY
1-3/4" MIN. EMBED INTO CONCRETE (HEAD/SILL/JAMBS)
1-3/4" MIN. EMBED INTO FILLED BLOCKS (JAMBS)

WOOD BUCKS AND METAL STRUCTURE NOT BY ENVIRALUM
MUST SUSTAIN LOADS IMPOSED BY GLAZING SYSTEM
AND TRANSFER THEM TO THE BUILDING STRUCTURE.

I DIRECTLY INTO MASONRY
1-3/4" MIN. EMBED INTO FILLED BLOCKS (JAMBS)

ANCHOR EDGE DISTANCES

, INTO CONCRETE AND MASONRY = 2-1/2" MIN.
INTO WOOD STRUCTURE = 1-1/4" MIN.

ANCHOR CL TO CL DISTANCE
‘ INTO CONCRETE = 3" MIN.
L INTO FILLED BLOCKS = 4" MIN.

5/16" DIA ULTRACON BY 'ELCO’ (Fu=177 KSI, Fy=155 KSl)
: DIRECTLY INTO CONCRETE
’ 1-3/4" MIN. EMBED INTO CONCRETE (HEAD/SILL/JAMBS)

" TYPE 'BB'-5/16" DIA ULTRACON BY 'ELCO’ (Fu=177 KSI, Fy=155 KS)

‘ DIRECTLY INTO GROUT FILLED BLOCKS

. 1-3/4" MIN. EMBED INTO FILLED BLOCKS (JAMBS)

I ANCHOR EDGE DISTANCES

i INTO CONCRETE = 2-3/16" MIN.
ANCHOR CL TO CL DISTANCE

| INTO CONCRETE = 3" MIN.

L INTO FILLED BLOCKS = 5" MIN.

| INTO MIAMI—DADE COUNTY APPROVED MULLIONS
OR
INTO METAL STRUCTURES
| (3) THREADS MIN. PENETRATION BEYOND METAL SUBSTRATE
: ALUMINUM: 1/8" THK. MIN. (6063—-T5 MIN.)
| STEEL: 1/8” THK. MIN. (Fy = 36 KSI MIN.)
(STEEL IN CONTACT WITH ALUMINUM TO BE PLATED OR PAINTED)

| ANCHOR EDGE DISTANCES

L INTO METAL STRUCTURE = 1/2” MIN.

WOOD AT HEAD, SILL OR JAMBS SG = 0.55 MIN.
CONCRETE AT HEAD, SILL OR JAMBS f'c = 3000 PSI MIN.
C—90 GROUT FILLED BLOCK AT JAMBS f'm = 2000 PS| MIN.

SHIM SPACE

)

EXT.

TYPICAL ANCHORS

EDGE DIST.

" STRUCTURE

J,

SEE ELEVATIONS —
FOR SPACIN/
|

r ra

(Y]

3/8" MAX.
SHIM SPACE

f
C/

COMP—ANL\W17—42ENV |

(C.A.N. 3538)

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

|

FAX. (305) 406-3877 |

]

5100 N.W. 72 AVENUE BLDG. C

MIAMI, FL. 33166

ENVIRALUM INDUSTRIES INC.
TEL. (305) 752~4411

[SERIES ENV-350 OUTSWING ENTRANCE DOOR (L.M.I.ﬂ

L

|

)

by [descriplion

(nof date

™ ] n
dade: g4—11-17 |[|(revisions:

<4
<
=
&
A
o

chk. by:

[

G —
drawing no.

W17-42
|sheet 5j1_of 10

Sealed: 07/28/2017




3/8" MAX.
SHIM

1 .3/4"

=\
METAL _
STRUCTURE ™

3/8" MAX.
SHIM

 EDGE DIST,

TYPICAL ANCHORS
SEE ELEV.
FOR SPACING

|
|

BE

P

=<

3/8" MAX.
SHM -,

TYPICAL ANCHORS™ - 4
SEE ELEV. %4 !
FOR SPACING .

1BY
WwO0D BUCK

3/4"

5A

@

O

. 3/8% MAX.
[ . SHIM

4.

. 4 TYPICAL ANCHORS
. ~SEE ELEV.
./ FOR SPACING

-%

M
]

ALT. FRAME JAMB

EDGE DIST.

-SEE SHEETS
/ 4 THRU 4.2

. B\ TYPICAL ANCHORS
" B SEE ELEV.
. 4,  FOR SPACING
v O
=)
i . e
LOCK OPTIONS] o
EXTERIOR SEE SHEETS v, LOCK OPTIONS
5 4 THRU 4.2 SEE SHEETS —
D.L.O. - 4 THRU 4.2
LEAF WIDTH
FRAME WIDTH -
ACTIVE LEAF INACTIVE LEAF
REINFORCING NOT REQD.
13) FOR DOORS UPTO 8 FT. HIGH
AND DESIGN LOADS UPTO 75 PSF
LOCK OPTIONS
_ _—

EDGE DIST.

T 1 e L-—— L
_______________ Wﬂ,
[____JUnh
32
LEAF WIDTH EXTERIOR

DOOR WIDTH

3/8" MAX.
SHIM
E£E
i—] ANEHOR
NOTFES
|_1_ I —
"
5 &
= S =
(%2} Ll <4
[a] 8 o
gl \8 b
8 X g
>—
(o)
g 88=
\WPICAL ANCHORS
SEE ELEV.
FOR SPACING

e

DOOR DETAILS

J

C
vy
—42ENV )

(CA.N. 3538)

FAX. (305) 262-6978
COMP—ANL\W17

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

(

|

=

SERIES ENV-350 OUTSWING ENTRANCE DOOR (L.M.I.)j
FAX. (305) 406-3877

5100 N.W. 72 AVENUE BLDG. C

MIAMI, FL. 33166

ENVIRALUM INDUSTRIES INC.
TEL. (305) 752~4411

|

J

by description

(revisions:
(nol date

|

04-11-17

=4
2
=
¥
v
°

chk. by:

da?ﬁ:

——————
drawing no.

W17—42

]
Sealed: 07/28/2017




([ ANTZ+—LLM\INV—dNOD

££88-90t (GOE) "Xv4d

-

o _

8.L69-Z92 (GOE) "XV4

00T8-+9Z (SOE) "13L

Lvy-2S2 (S0g) 3L
9g1¢¢ 14 ‘IAVIN

1HOIFH WOSNWYL

1HOIFH 4V

1HOIFH JWVHA

)
(88se "N'VD) £LTEE VAIMOT ‘INVIW D 9078 INNIAY 27 MN 00LS
0ZZ ALINS ‘IAINA 1ISNNS 09E6 .
h INIWJOTIAIA LONAOYd *¥ SUIINIONI * ONI S3IYISNANI WNIVHEIANT T P T L TR
L € | NolLYHOJdHO0D DoouVi-1V %._.i 4000 JONVLINI ININSINO 0563 SIS || | = TN,
o]
]
o~
o
a2
FH=
—
P
_ n
=
<4
) B
V A
X
p=
S | - 3
1 o 2!
B g * s
- :
& g B
=
(o]
(73]
=z
o/ i L2
q, E
@ \
!
B
2
==
% |5
- ee
[o= i
T W
2o
N
2 O
s} (8
&
P
ek
=
B
o _ 0
g5 N 37 »
3 ~ Zzing
<M > WSMF
908y egf
G_UA S - *
0 Y% ~%$9~9038
X o 30vdS WIHS S5hd «BEUNE
230 X .8/ Sus  y3¥z88
MWW E e SIz g
< e
m&w ‘. / \
ouwa 4 %
RS e (2) ) N7
N 20
. .I.“__/ — Q «_M_“ -nw”_
U L _
IS = /ﬁ ||||| =
7
o R T e
W ° a. = e e
a L
3 ...b
— JOIdHLXH
57a

Sealed: 07/28/2017



51 1/2" MAX. 99 1/2" MAX.
FRAME WIDTH NO. OF ANCHORS " FRAME WIDTH
ANCHOR |AT MTG. STILE ENDS
TYPES [1/4” SHIM[3/8" SHIM| —.|
A 6 8 - "
B 6 8 o 3
5l s - ~ L TP
= mE’ \x
6" MAX. 16" MAX. LI2Z 6" MAX e
HEAD = HEAD/SILL SI78 HEAD . s 16" MAX.
CORNERS 7.9 < © CORNERS @D \'\,/_,____ L HEAD/SILL
1 2 < SN
. N V) [ a0 [ |
- I ] _ -le LI | I
/ /
—L " / . — / EE
1 / / HINGES AT WATER RESISTANT DOORS
N/ / /—(4) REQD. FOR DOOR HEIGHTS UPTO 90 1/2"
_1 -, Il I 1 Y & (5) REQD. ABOVE 90 1/2" HEIGHTS
cCHhN | :::::{:1 —===c 7o / 7
EES 4 N \6/ / ED) /
;i il B = = il / 7.2 T
s N /
a7 L il T3
/ I = 9 / = @
d 0 ALl #===== A ——— — = . =
% F===== AT - NES % / NES
|2 %= =, — ||/ Il -— EoXle . — ] I
xle =\ © Y o é B sS|xr |9 - o
2la S L& _L ;/ 1| I | =4I 8 %5 _L /; il
H T gtn ES < H ‘ < H = :(U I { 1 ’ 7
ol Bl —2 1o 35 Sl T~ 3 iy /s
— - s
g ~[@ 8 —H Ko || g n~8 8 ok / I
NN \
= N\ i \ 4 = AN s
N\ [l - AN
N - \
| N “J |  SURFACE APPLIED 1 \ | SURFACE APPLIED
_____ U f—_FALSE MUNTINS OR \ [__FALSE MUNTINS OR
_____ ===== DECORATIVE GRILL DECORATIVE GRILL
1R MAY BE USED N\ MAY BE USED
T T T T h I
i AN AN
Ul I N AN
AN AN
\ g N\
/ [ ACTIVE = A1 | ACTIVE PN INACTIVE A 1
_/// | .1 /// ! NRRNEA | I _
HINGE OPTIONS a1 c_]m— 4" MAX HINGE OPTIONS _ % NS 38 7/8" | i o0
SEE SHEET 9 -2 . e | e SEE SHEET 9 D.L. OPG. Z lof
38 7/8 SILL 3 Y |22
D.L. OPG. CORNERS 4" MAX. ﬂ 47 7/8" 578
. ST ANCHORS TYPE B o
47 7/8 CORNERS AT STILE ENDS LEAF WIDTH +
LEAF WIDTH 3" 0.C.
(5) FOR HT. UPTO 98"
(6) FOR HT. ABOVE 98"
(X) (XX)
LEVATIONS
DOORS TO MEET WATER REQUIREMENTS
NOTE:
FOR DOORS WITH GLASS TYPE ‘B’ (LEVEL ‘E’ IMPACT)
LIMIT MAX. DOOR HEIGHTS TO 98 INCHES.
FL #20701

~

f
C

COMP—ANL\W17—42ENV ]

(CA.N. 3538)

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

C

|

FAX. (305) 406-3877

FL. 33166

NVIRALUM INDUSTRIES INC.
5100 N.W. 72 AVENUE BLDG. C

[
E

SERIES ENV-350 QUTSWING ENTRANCE DOOR (L.M.I.)]

TEL. (305) 752—4411

MIAMI

|

)

by [description

N(revisions:
no[ date

04-11-17

2
—
]
©
N
M

P
=]
Q
)

da\e:
chk. by:

————
T EE—
drawing no.

W17-42

Sealed: 07/28/2017




3 =)
DETAILS Q3
St 2.464—>l mk é;d
@ @5\ DOORS TO MEET WATER REQUIREMENTS & ,l
.625 f =
(1 L ITEM NUMBERS 40, 41, 42 AND 43 ADDED TO STANDARD DOOR 4 SRz
| SECTIONS TO MEET WATER INFILTRATION RESISTANCE REQUIREMENT. } Or 382
) SEE SHEETS 5 AND 6 FOR STD. DOOR DETAILS. .090 & g%
i t < E i 2 %
@) = 12 Eoocd(d
S e ® DRIP CAP Egg“ﬂo
= eok 3
N ) 1.182 = 0570
Y M 235 02,5
I — | eiEte
i (o] AL E
@ L D J .050 X L.]Q 3
14
E229 &
QUL g
1.327 = L % o
P <o 2
-l OQg
< Z M H ]
DOOR SWEEP (TOP) o2 F| |
——————
— 1,327 | =
“ T 1
R a0 0T 235 ||| © &
b Mo [2lds <
Ll [Te]
1.182 2|32 8
= | d :
. 1.714 Glgy &
o A
= L DOOR SWEEP (BOTTOM) [|5(2 28 =
3] % Zam ¥
; — »I r.681 2= ™~ é
[Te]
T E Tel=d o) 5 LN
H MY - | .2%z_ﬁ i 11233
i L 11 A
“: b == : 786 e 9%‘ o
s | |E‘ " S i ww =
:E;'l i<l WATER FLAP ———
. o) EXTERIOR T
F”ﬁ ®, WATER RESISTANT DOOR
COMPONENTS
[ s
o
- = 5
o
o
o
>
O
.
clle
Ol[o
‘|0
>
[0 (e}
\Ae
[ e |
39 ALT. T0 10 ~ || -
| ]
— a
Tl
=7 .
L8| & &
Ikl P E:
——
drawing no.
W17—-42
sheet7.20f 10

Sealed: 07/28/2017




( AN3ZH—£ LM\ INV—dNOD

L£85-90% (G0OE) "Xvd Livy—2ss (S0€) 3L
\| 826929 (SOE) "XV 00T8+92 (SOE) M3l mm_.m.m .|_|._ ._§<_§
U (8gse "‘N'V') €LTEE VAIMOTA ‘INVIW 2 9018 3INNIAV 272 'M'N 001LS

& 0ZZ 311INS ‘JAIHA 13SNNS 09€6
ANIFNHOTIAIA 1ONAO0Ud ’® SHIIANIODONI

£ | NOLLYHNOdNO0D DOOHVI-TIV

"ONI SAILSNANI WNTVHIANT
— | [ uondiuiossp|Aq | a10p [ou
?.z.d”_ooﬁozézuoz_;msoomzzu&_%m_ﬁ nmco_msm&

sheet7.30f 10

R |

L

FL #20701

A\

B N L.

APPR'D
FOR WATER
RESISTANCE

R —

3000 PSI CONC.

TYPICAL ANCHORS
SEE ELEVATIONS
FOR SPACING

EDGE DIST.

2" MIN. ¥

FOR WATER
RESISTANCE
THROW BOLT —~

NOT APPR'D

v

PENETRATION

v -

Sealed: 07/28/2017




4.500 e— 2.000 — e —
125 - 750 —={1.000
{- ——
(#)] 7 ()] <21 1
1.750
094 —=|f=— 3.550 ~={r=.125 —{}=—.187 2.000
4.550
4.500 4125
= L. '
@ FRAME HEAD : T
r1.7so—> "l 125 L &7 a7 N |
i 1,954 —=| @ @
.187:i @ TOP RAIL ALT. FRAME JAMB STEEL CHANNEL REINF. |GUIDE CHANNEL FOR TOP & BOTTOM PIN_
fo—1.954 —= 1.954 —
. iz 1.340 =
_>I<»—_1 . }Il
4.500 s e —={ 1.402 T 1 .383
125 [ % } F’
e r I r I Y
e — ? ?
1.530 .156 1.592 THRESHOLD/DOOR STOP COVER
094 —=|=— =12 L J |o1.507ﬁ
® FRAME JAMB 1027
? —ofl=—.062
—BI h_308 8.000 L il ': j 1.464 1.765
. B 9| 7.000
SHEAR BLOCK =~
10.000 ]
9.000
Ly = =] (=
062 250 |- ALT. THRESHOLD COVER al4he
3.951 { bf
.090 —fla— 075 | &
624 m 694
i | T
3.500 4] .062 f
i @ le—2.000 —= C 9 b le——.353
BOTTOM RAIL 125
FLAT FILLER
L —'“‘__ﬁ'_ @ THRESHOLD RAMP
3.380 5000 — al 1.250

!

’<>1.556-*>

L

645 C;?/mw 560
I .080 ]
3.913

@ THRESHOLD

1

——]

@ ALT. BOTTOM RAIL

TRANSOM SASH

2.454

fo— 2,000 —=

MID—RAIL

5

|$1.556—'>

645 1
[ 1080

544

@)

6.329

ALT. THRESHOLD

2.000 1.954
125
'5_ [N || |-
/
4.550
@ HINGE STILE
3.550
1.954 ] 2.000
5_'125 J
?
4.550
@ LOCK STILE

—>|.814l<—

e

1.224

—=—.062 i
ol

1.099

GLASS STOP (LAM. GLASS)

—

’<»1.532°‘
125

5},72_EE g ] 665
i

@ DOOR STOP

P

8.364

8.483

. rl .
156 —

ADA THRESHOLD RAMP

675

.165 —

®

1.112 062 —=

¢

—

798 =—

GLASS STOP (INSUL. LAM. GLASS)

l<>1.500*>

.250
F

.187

©

_f

STILE REINFORCEMENT

1.687

R

04-11-17

dat\e:

N

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

a

[

|

f
<

(C.AN. 3538)
COMP—ANL\W1 7—42ENV]

FAX. (305) 262-6978

|

FAX. (305) 406—3877

[ SERIES ENV-350 OUTSWING ENTRANCE DOOR (LM..)]

|

5100 N.W. 72 AVENUE BLDG. C

MIAMI, FL. 33166
TEL. (305) 752-4411

ENVIRALUM INDUSTRIES INC.

5

4

by [description

(revisions:

no[ date

L

[

_drowing
W17-42
(sheet 8 of 10)

L]
—
[l
L3
o
~
~”
P
=]
Q
9

dr. by: TARIQ

no.

Sealed: 07/28/2017




ALL FRAME CORNERS, JOINTS, MULLION SEAMS AND PERIMETER OF
GLAZING BEAD TO FRAME SEALED WITH SILICONE SEALANT.

ITEM NO.| PART NUMBER QUANTITY DESCRIPTION MATERIAL | MANF. /SUPPLIER /REMARKS
1 ENV—351 1/ LEAF TOP RAIL 6063-T6 | ENVIRALUM
2 ENV-352 1/ LEAF BOTTOM RAIL (8" HIGH) 6063-T6 | ENVIRALUM
2.1 ENV—3521 1/ LEAF ALT. BOTTOM RAIL (10" HIGH) 6063-T6 | ENVIRALUM -
3 ENV—353 1/ LEAF HINGE STILE - | e063-16 | ENVIRALUM
4 ENV—354 1/ LEAF LOCK STILE 6063-T6 | ENVIRALUM
5 ENV—355 2/ DOOR FRAME JAMB 6063-T6 | ENVIRALUM
5A - 2/ DOOR ALT. FRAME JAMB - 6063-T6 | ENVIRALUM o
6 ENV—356 1/ DOOR FRAME HEAD B 6063-T6 | ENVIRALUM
7 ENV—357 4/ UTE GLASS STOP (INSULATED GLASS) 6063-T6 | ENVIRALUM
8 ENV—358 4/ LOE GLASS STOP (LAMINATED GLASS) 6063-T6 | ENVIRALUM —
9 ENV—359 AS REQD. THRESHOLD RAMP 6063-T6 | ENVIRALUM
9.1 ENV—3520 AS REQD. ADA THRESHOLD RAMP 6063-T6 | ENVIRALUM
10 ENV-3510 AS REQD. THRESHOLD/DOOR STOP COVER 6063—T6 | ENVIRALUM
10.1 ENV—3518 AS REQD. ALT. THRESHOLD COVER (HI—RISE) | 6063-T6 | ENVIRALU(M
11 ENV-3511 1/ DOOR THRESHOLD 6063-T6 | ENVIRALUM
11.1 ENV—3519 1/ DOOR ALT. THRESHOLD 6063-T6 | ENVIRALUM
12 ENV=3512 3/ DOOR 'DOOR STOP 6063~T6 | ENVIRALUM
13 ENV—3513 AS REQD. STILE REINFORCEMENT, REQD. FOR DOORS ABOVE 8 FT. HIGH 6063—-T6 | ENVIRALUM
14 ENV—3515 4/ TRANSOM TRANSOM SASH 6063-T6 | ENVIRALUM
15 ENV—ST2 AS REQD. 1" X 4-1/8" X 1" X 3/16" THK. CHANNEL STEEL ENVIRALUM
16 ENV-3516 1/ LEAF CORNER | SHEAR BLOCK 6063—T6 | ENVIRALUM
17 ENV—GCO1 2/ LEAF GUIDE CHANNEL FOR TOP & BOTTOM PIN 6063—T6 | ENVIRALUM
18 ENV-454 AS REQD. FLAT SNAP, 3" LONG 6063-T6 | ENVIRALUM
19 ENV—3514 AS REQD. MID—RAIL (OPTIONAL) 6063-T5 | ENVIRALUM
21 ENV—GO4 AS REQD. INTERIOR GASKET - "EPDM | GLAZING RUBBER PRODUCTS
22 ENV~GO6 AS REQD. SPACER GASKET EPDM GLAZING RUBBER PRODUCTS
 22a ENV—GO6 1/ QUARTER POINT | SPACER GASKET, 1" LONG EPDM GLAZING RUBBER PRODUCTS
23 ENV—SBO1 1/ QUARTER POINT | 3/8” X 1/2" X 2" SETTING BLOCKS, DUROMETER 80+5 |  EPDM | GLAZING RUBBER PRODUCTS
24 ENV—SB02 1/ QUARTER POINT | 3/8" X 1—1/4" X 2" SETTING BLOCKS, DUROMETER 80+5 EPDM GLAZING RUBBER PRODUCTS
25 DOW 791 AS REQD. GLAZING COMPOUND SILICONE | DOW CORNING
26 GE $CS2000 AS REQD. GLAZING COMPOUND | slLcoNE | GE MOMENTVE
27 #12 X 1-1/2 4/ CORNER FRAME ASSEMBLY SCREWS ST. STEEL HWH SMS, AT 16" 0O.C.
28 #8 X 5/8" AS REQD. TRANSOM SASH SCREWS ST. STEEL | AT 3" FROM ENDS & 12° O.C.
29 #8 X 5/8" AS REQD. DOOR STOP ASSEMBLY SCREWS, © 3" FROM ENDS & 20" O.C.| ST. STEEL | HWH SMS
30 ENV—BP1 2/ HINGE HINGE BACKING PLATE, 1-1/2" X 1/4" THK. X 8-3/8" LONG | ALUMINUM | —
31 - 3/ LEAF 4-1/2" X 4" BUTT HINGES ST. STEEL | -
32 SL-21 1/ LEAF CONT. GEAR HINGE ALUMINUM | SELECT PRODUCTS LTD.
324 PEMKO—FS 1/ LEAF CONT. GEAR HINGE ALUMINUM | PEMKO
33 1/4-20 X 1" 10/ LEAF CORNER BLOCK ASSEMBLY ST. STEEL | HEX HEAD BOLT W/ WASHER
34 ENV—GO1 AS REQD. FIXED INTERIOR GASKET EPDM GLAZING RUBBER PRODUCTS
37 ENV—WP1 AS REQD. WOOL PILE W'STRIPPING TRILOBAL YARN | ULTRAFAB
38 ENV—WP2 AS REQD. WOOL PILE W'STRIPPING TRILOBAL YARN | ULTRAFAB
39 ENV—BG1 AS REQD. | BULB W'STRIPPING, (.475 BULB W/ FLAP X .270 BK.) EPDM ULTRAFAB
T ENV-3518 AS REQD. DRIP CAP ALUMINUM | PEMKO
40A #3 x 5/8" AS REQD. DRIP CAP FASTENERS, AT 3" FROM ENDS & 6 O.C. ST. STEEL | HWH SELF DRILLING SCREWS
41 ENV—3512 AS REQD. DOOR SWEEP (TOP) ALUMINUM | PEMKO
“aA | g8 x 172" AS REQD. DOOR SWEEP FASTENERS, AT 3" FROM ENDS & 6" O.C. ST. STEEL | FH SELF DRILLING SCREWS
42 ENV—3523 AS REQD. DOOR SWEEP (BOTTOM) R ALUMINUM | PEMKO
42A 48 X 3/4" AS REQD. DOOR SWEEP FASTENERS, AT 3" FROM ENDS & 6" O.C. ST. STEEL | HH SELF DRILLING SCREWS
43 ENV—WF1 AS REQD. WATER FLAP - EPDM ULTRAFAB
SEALANTS:

HINGE OPTION #1:

4" X 4—1/2" X .130” THK. ST. STEEL KNUCKLE HINGE
SERIES 4001 BY ‘REGENT HARDWARE’ OR

SERIES FBB 191 BY ‘STANLEY SECURITY SOLUTIONS’ OR
SERIES TA2314/TA2714 BY ‘MCKINNEY ASSA ABLOY’

3 PER LEAF

TOP/BOTTOM HINGES AT 7” FROM EACH END

CENTER HINGE AT MIDSPAN

FASTENED TO

FRAME JAMB WITH (4) 12—24 X 1/2” FH MS

DOOR STILE WITH (4) 12—24 X 1/2” FH MS

EXTERIOR

HINGE OPTION #2:

CONTINUOUS GEAR ALUMINUM HINGE ‘PEMKO-FS’ OR 'SELECT SL-21’
FASTENED TO

FRAME JAMB WITH #12 X 3/4” FH SCREWS AT 6" O.C.

DOOR STILE WITH 1/4-20 X 1-1/4" FH MS WITH SEX BOLT AT 6" O.C.

g
Al

HINGE OPTION #3:

_EE

EXTERIOR

CONTINUOUS ALUMINUM ROTTON HINGE ‘PEMKO—FM’ OR 'SELECT SL 27’
FASTENED TO FRAME JAMB AND TO JAMB STILE WITH
(22) #12-24 X 1/2” FH MS SCREWS

a I
f
)

|

COMP—ANL\W1 7—42ENV]

8)

(CA.N. 353
FAX. (305) 2626978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

ﬁH
(

5100 N.W. 72 AVENUE BLDG. C

MIAMI, FL. 33166
TEL. (305) 752—4411

FAX. (305) 406-3877

ES ENV-350 OUTSWING ENTRANCE DOOR (LM.I

" ENVIRALUM INDUSTRIES INC

|

| SERI

)

by [descripltion

(revisions:
(no| date

|

04-11-17
dr. by: TARIQ

drawing no.

W17-42
(sheet 9 of 10)

Sealed: 07/28/2017




-~

( ANIZP—ZLM\INV—dINOD Jl || ee88-90% (S0€) "xv4  LLv¥—2SL (Sog) 1AL

o
r [ 826929z (s0€) "Xvd 001892 (S0€) 13l 991¢¢ 14 IAVIN e
U (gese "N'VD) E€LTEE VAIHOT “INVIW J '9018 3NN3AY 242 'M'N 001G M
0z 31InS ‘IAIHd 13SNNS 09E6 . -

h INIFNJOTIAIA 1ONAOHd 2 SHIINIDNI ONI_ SIFLSNANI WNTIVYIANS ondiosap [ Aq a10p U °
\ ) [+}]

L £ | NolLYHOdHO0D DoouV4-1V ?.i 3000 FONVYINI ONIMSING 0SE-AN3 mm_E& ( 'SUGISIAB) G

FL #20701

i

DOOR FRAME BOTTOM CORNER

DOOR FRAME TOP CORNER

HH MS WITH WASHER
1/4-20 X 1" HH MS
WITH WASHER

(3) REQD. FOR 8" BOT. RAIL
(4) REQD. FOR 10" BOT. RAIL)

(2) 1/4-20 X 1"
REINFORCEMENT WHEN REQD.

TO BE WITHIN
AND 7" FROM BOTTOM

3—1/2" FROM TOP

).

FH MS

:"\
:
]
[
\
'
]
:
[}
'
\
:
[ ]
:
h
\\
<
%" =N
SURT
>
s
| {
k(Z) #10 X 3/4"

FH MS
FH MS

(2) #10 X 3/4
(2) #10 X 3/4"

DOOR LEAF BOTTOM CORNER

DOOR LEAF TOP CORNER

Sealed: 07/28/2017





